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Which of the following numbers is a perfect square?

8024371, o041
58287
8024372.
8024373, 00103
38262
8024374
X s} : ) 3 + = =7
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8024371.

8024372.

8024373.

8024374.

48841

58287

68763

38262
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The surface area of water in a circular well with vertical wall is

30 m2. When an idol made of a material of density 2 g/cm3 is fully

immersed, the water level rises by 10 cm. What is the mass of the

idol?

8024375.

8024376.

8024377.

8024378.

300 kg

600 kg

3000 kg

6000 kg
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8024375. 300

600 =3
8024376.

3000 &
8024377.

6000 =T
8024378.

The hour and minute hands of a clock are along the same line at a
certain time. They will be collinear next after a lapse of time which

is closest to

30 minutes

8024379.
www.FirstRanker.com
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60 minutes.
80243710.
63 minutes.
80243711.
33 minutes.
80243712.

e (AT 79T T UF TS A AT T A F I ATAT T2 AT UF AT
T 2| TF THT GV T GIAT A7 T AT G@T gt WErerad § |7

[ i b !
EETECEAR

30 ===

8024379.

60 A=+
80243710.

63 ™A=+
80243711.

33 ==&
80243712.
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Which of the following is true for the given figure?

Number of rectangles > Number of triangles.

80243713.

Number of rectangles = Number of triangles.
80243714.

Number of rectangles + 1 = Number of triangles.
80243715.

Number of rectangles + 1 < Number of triangles.
80243716.

o o o % form Metorta ATt § 8 #i9-a1 Aeer a8 7

AT & "qeAT > e S g

80243713.
www.FirstRanker.com
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ATl o 5T = e i 9T
80243714.
AT A TEAT + 1 = B i T
80243715.

At #t g + 1 < Bsgsi #it g

80243716.

Marks of five students Brijesh, Paresh, Ramesh, Naresh and Suresh
in an examination are distinct. Marks of Brijesh is the average of the
marks of all these students. Marks of Naresh is the average of the
marks of Paresh and Ramesh. Marks of Paresh is the least and
marks of Naresh is more than the marks of Suresh. Who got the

highest marks?

Brijesh
80243717.

80243718. fYanich

Ramesh
80243719.

Suresh
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EEEU

80243717.

TE9T
80243718.

THT
80243719.

T
80243720.

In a test attempting all given questions is compulsory. A candidate
is given 3 questions to start with. On every correct answer the
candidate is given 2 additional questions. If the candidate attempted

a total of 11 questions, how many were correctly answered?

80243721. www.FirstRanker.com
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80243722.

80243723.

80243724. 4

T TAT | & T T G771 T FOAT AT 2| TAT 500 ST |

27 famfT %7 3 wou 23 91 3| v=F 7 5 U 2 At wed 4
=7 &7 21 37 T v Tt 5 5= 11 wedt # T, 91 v e
Y91 FT TET Iea€ [3AT?

80243721, °
5
80243722.
80243723, ©
4
80243724.
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Which one of the following pairs of statements represents negative

feedback in a stimulus-response pair?

Praise increases performance. Higher performance leads to

praise.
80243725.

Criticism reduces performance.
80243726.

Increase in body temperature results in sweating. Sweating

reduces the body temperature.
80243727.

Reduction in air temperature increases polar ice. Increase in

the polar ice reduces air temperature.
80243728,

fforaa & & -a7 e SEH- A iw T T FTes [
(feedback) Z9TaT 27

TETHT HTH AT FT TETAT 3| S=IAT FAFAATT & TAT et 2

80243725.
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80243726,
T ATTHTT | g5 | THIET A1a71 2| THAT &9 & 907 &7
ATTHTA =T 2l

80243727.
AT & ATT H T & AT T qEAr 81 g O T g F A A
ATTATT F7 2T 2

80243728.

Maximum retail price (MRP) of each of 3 different brands of biscuits
A, B and C is Rs. 20 per 100g packet. During a festive offer, A is
available at 25% off on MRP, B is available with 25% extra biscuits
for the same MRP, and one packet of C is free on purchase of three
packets of C. If a person wants to buy biscuits for Rs. 60, which
brand should the person choose to get the maximum amount of

biscuits by weight?

B only
80243729.

Either A or B, not C
80243730.

80243731. www.FirstRanker.com
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Either A or C, not B
80243732.

e 9w &1 A, B 7 C ¥ faegei & 797 % 100 g T919 & UF T &7
FrerTas gavT 97 (9799) 20 =79 31 T =gw 5 Ty A TS 999
 25% T/ T ¥ I 2, B TET g T 25% ATHF Aemer & A
TIAH 2 FAT C & A1 e Féiad 7% C FT % T2 {7 3T 2| A%
TF Fh 60 FTH % fargE GYIeAT FTEAT 2 71 AdI9F a9 & (aepe
15 7S & LI o7 7% 87

F99 B

80243729.

[t

A 7T B, A% C AE]

80243730.

B 74T C, &ta A 72T

80243731.

A 4T C, A% B 7T

80243732.
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The figure shows a circle inscribed in a square.

2
N

If a large number of points are randomly marked within the square,

the expected percentage of points inside the circle is closest to

92
80243733,

79
80243734,

80243735. 73

80243736. 70

www.FirstRanker.com
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2
N

T3 F9 H qgT AT FEAT § AvgAl 71 AgroEF =T F AT A0 AT A
% g fEigar it werfor wieraar F Fream g |

52
80243733.

80243734. =

80243735. 73

70
80243736.
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A F B
If points E,F,G, and H bisect the sides of rectangle ABCD as shown
in the figure, what is the ratio of the areas of quadrilateral EFGH and

rectangle ABCD?

80243737, 14
7 B
80243738.
80243739, 1-2
21
80243740.

www.FirstRanker.com
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A F B

ag Mg E, F, G 7471 H T a=a ABCD T omeli &7 = # g9
JAATY BT F77 31 A7 9947 EFGH i @7 ABCD # &=t #1

ST T 57

80243737, 14

1:3
80243738.

1:2
80243739.

21
80243740.

A cube of side 3 cm is made by assembling cubes of side1 cm.

How many small cubes can be counted on the surface?

24
80243741.

80243742. www.FirstRanker.com
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26
80243743,

80243744.

T 3 HHT AT AT I 1 FHHT AT T A1 % STAA F TMT T4 5| T2
T T AT AT T (oA FiE o [ 7 776 £ 2

24
80243741.
80243742, 235

26
80243743.

27
80243744,

www.FirstRanker.com
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whose prices are given below.

Size (carats) | Price (rupees/carat)
0.25 50,000
0.5 100,000
1 200,000
2 400,000

What are the minimum and maximum numbers of diamonds that

can be purchased for Rs. 400,0007

1and 8
80243745.

1 and 32
80243746.

2and 8
80243747.

2 and 32
80243748.
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ris
AT (342 ®) | 9T (77 9 542)
0.25 50,000
0.5 100,000
1 200,000
2 400,000

=77 400,000 ¥ BYIE AT A% A E101 51 799 T AAFTT JeAT0

FT 27

178
80243745.

1 74 32
80243746.

2T 8
80243747.

2 T 32
80243748.
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showed a weight of 8 kg for an object A and 6 kg for another object
B. When A and B are weighed together, the balance showed 16 kg.

The true weights, in kg, of A and B, respectively are

4 and 6
80243749.

10 and 6
80243750.

10 and 8
80243751.

80243752, ©ands

T FHAEIT qT &1 72 77 & BfeT (dfwa2) 21 T 3 Teg A 77 9%
8 T3 7 #¥7 ¥ B FT 917 6 53T 3977 | 9 A 79 B 31 & U% A1
ATAT T FT AT = 16 T 39T A 74 B 7 #51 q77, T H, FHq 2

47F 6
80243749,
0Td 6
80243750.
80243751,
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8T 8
80243752.

Consider a moving object whose velocity v varies with its position

x as shown in the given plot.

il
N | 77

Which of the following plots showing the change in position with

time is admissible for the above object?

80243753.

80243754. www.FirstRanker.com
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rll

80243755.

80243756.

T ATAHTT T5 & a0 v 9% ©I9 x % 779 599 T A1 & TTAT
TiaTd g 2|

v

2 | P
N

TEG & TATH FT THT & ATT TAaq 21d 39077 & 29 HI-A7 =12
T 27

AT
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80243754.
n
| VA
80243755.
_1']!.
/ ;
80243756.

In a ten-digit mobile number 999ABCDEEE, A, B, C and D are

distinct prime numbers. The mobile number is never divisible by

80243757.

80243758.

S
80243759.

www.FirstRanker.com
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TF TA-HHT TS A 97 999ABCDEEE, ¥ A, B, C 7T D 9=
AT LA 2 | T A2 Tl A7 (HeAerrad | 7 & mar
AT TGI8 ?

80243757.

80243758.

80243759.

80243760.

A person invests a certain amount of money. Whenever the amount
gets exactly doubled, he donates Rs. 200. After four such donations
he is left with Rs. 200. The initial amount of money he invested was

rupees

www.FirstRanker.com
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80243762. 800

400
80243763.

200
80243764.

T FATE TF (RT9F & T FT (4297 Fa7 | o 7 g 77797 2 anr

ZT AT &, 7 =ATen =74 200 TTF 7 397 21 30 THW & A 319 & ST
TEF T FF 200 TFF | TAF FIAT (AT TTEFHF 0190 =4

o)

1000
80243761,

800
80243762.

400
80243763,

200
80243764.
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| bought some bananas for Rs. 120. The vendor gave me two extra
bananas and in the process incurred a loss of Rs. 10 per dozen on

the earlier price. How many bananas did | ultimately get for Rs. 1207

18
80243765.

16
80243766.
80243767, 1

12
80243768.

9 120 =TT H FF el GEIG| [AHAT 7 & Fef oY A189%F § (30 A7 |
TATHHT & TaoaT & TaaaT G & qa=T § 10 T2 1 T9 &7 A1
T Fad: o 120 = | A we e

18
80243765.

www.FirstRanker.com
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12
80243768.

The difference between the ages of a boy and his father is same as
that between the father and grandfather Five years earlier, the
grandfather was twice as old as the father. The present age of the

boy is

5 years.
80243769.

7 years.
80243770.

8 years.
80243771.

9 years.
80243772.

www.FirstRanker.com
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539
80243769.
80243770. 7 aﬂ

8 T
80243771.

99T
80243772.

In a triangle ABC, AB=8, BC=14, and CA=12 units. Circles are
drawn with centres at A, B and C, such that they touch each other

externally. The radius of the circle around A is

80243773.

80243774.

80243775.

80243776. www.FirstRanker.com
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k]

feft e ABC ¥ AB=8 %1%, BC=14 THT5, T4 CA=12 T#T% 1 A, B

TAT C F1 &5 195 WTH 7 99 6 778 a479 T4 2 16 7 7% AL F a1g]
T F7A 21 A Tl vz T H7 a9 T 77 51 971 2

80243773.

80243774.

80243775.

80243776.

A certain multiple choice question has four options of which at least
one is correct. If a student answers at random choosing at least one
option, what is the probability that the student selects the exact

combination of correct option(s)?

www.FirstRanker.com
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1/4
80243778.
1/12
802437709.
1/15
80243780.

feT wor % 97 = (A% § Sed 7 78 7 7% vF w5 g1 A A
framdt ag=es =7 7 = 7% FEer #1799 7 Iew <47 ¢ Aar
oAt 317 Tore: 72T fAweT (o) & J0ee A $1 AT e
AR

1/3
80243777.
80243778, /4

1712
80243779.

1/15
80243780.
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Compared to the Earth, Neptune is approximately 30 times farther

away from the Sun. Its period of revolution around the Sun (in
Neptune years) would be

.1
80243781.
80243782, -0

165
80243783.

423
80243784.

www.FirstRanker.com
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G| Bl a1 o AU U G T 30 T 3R 3fd o3 W RUd g1 30!
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1
80243781.
80243782, -0

165
80243783.

423
80243784,

The Earth is shaped like a/an

Oblate spheroid
80243785.

Oblate geoid
80243786.

80243787. www.FirstRanker.com
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Everest spheroid

80243788.
T2l U 59 PR 4l §
que T
80243785.
U H-3MH
80243786.
Tefer ey
80243787.
80243788. B

Which one of the following minerals determines the strength of
the Earth’s continental crust?

www.FirstRanker.com
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80243789.

Mica
80243790.

Quartz
80243791.

Amphibole
80243792.

S8 Y DIF U1 0P QS el & HgTgIurd quet & Horggl ol YR
P17

s WR
80243789,

@]
80243790,
80243791, )
80243792.
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If the attitude of the two limbs of a fold was measured as 263°/29°N

and 351°/40°E, the fold axis will plunge in which one of the following
quadrants?

North East
80243793.

South West
80243794.
80243795. North West

South East
80243796.

g¢ U 9a- & &l Ur=dl & Ughd 263°/29°N TaH 351°/40°E HTU!

T, I Sfef [y iR | S{a=HH gril?

SR gd

80243793.

aiémr iy

80243794.
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aferor g

80243796.

Which one of the following is the fastest spreading ridge on
Earth?

Mid-Atlantic ridge

80243797.

Southwest Indian ridge
80243798.

East Pacific ridge
80243799.

Carlsbad ridge
802437100.

gedl IR 18 I I U1 Ub ey gaiiil faedRul hedh 62

80243797. www.FirstRanker.com
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80243798.

80243799.

802437100.

GOS8y YRdg dcd

Udf U=Mid ded

BIAES Feh

Which of the following is TRUE for a disconformity?

A gap in the geological record bounded below by igneous
rocks and bounded above by sedimentary rocks.

802437101.
A sequence of rocks that does not contain any gap in the
geological record.

802437102.
A gap in the geological record where the strata below and
above an erosional surface are horizontal.

802437103.
A gap in the geological record bounded below by tilted
sedimentary strata and bounded above by horizontal
sedimentary strata.

802437104

www.FirstRanker.com
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U AOYHGI & o7 590 O &9 91 9ol 672

YT ef¥era ¥ Ue S=Rid ol & Al o=y dl td W
3@y Xdl ¥ BRIl

802437101.

i siffrerg d foqT fhdt of<Rid ard 20 &1 Uh S-HHhH |

802437102.

YU SMiYE § U S=RId 961 UG- 9dg & -id ud
SR DI TR &l B

802437103.

YT effteRd H U sRie Sl i AiE # 3o gu sEurdl
IRl Y Ud HR &fd 3adrel wRdl 9 forT 5|

802437104.

In the Earth’s interior, the increase of P-wave velocity at 670 km
discontinuity is caused by phase transition from

otivinetospinet:
802437105. www.FirstRanker.com
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garnet to perovskite.

802437106.

olivine to perovskite.
802437107.

B-spinel to y-spinel.
802437108.

gedl & AARS YT H 670 km SRIIAA W P-IRI Tid 39 U
TG & HRU 96d! o

3fieiid 9 e

802437105

TMHe ¥ RABISC

802437106.

3eldH ¥ RARBISC

802437107.

B-FHd 9 y-Rrd

802437108.

www.FirstRanker.com



:l » FirstRanker.com

A Firstrankdy'sehpide
' www.FirstRanker.com www.FirstRanker.com

Which of the following minerals exhibit maximum number of cleavage planes?

Calcite
8024371009.
802437110, >alena

Fluorite
802437111.

Sphalerite
802437112.

=18 T I 9T G 3Afs faga ddl & =1 Bl UG Rid Hdl
&7

802437109.
802437110.
802437111.
= T
THaRISC

802437112. www.FirstRanker.com
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Which one of the following boundaries approximately represents
the Great Oxidation Event (GOE) in the Earth’s history?

Proterozoic-Paleozoic

802437113.
802437114, Archean-Proterozoic
Mesozoic-Cenozoic
802437115.
Paleozoic-Mesozoic
802437116.

5 el # 4 oF W U6 gl & sidey § Uidcd: Hel-
TTIHRUT g2 (GOE) &1 Ufdfied Bdl 572

ieslig e — Tefeisigs

802437113.

Ifhae - UieiSligd

802437114.
www.FirstRanker.com
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AYlsd — A5 H

802437115.

Uil 3fisligd — HHISlgD

802437116.

Which one of the following clay minerals is devoid of iron?

Chlorite
802437117.

802437118. Glauconiie

802437110, Chamosite

Kaolinite
802437120.

=98 U ®F U1 P AfdeT 9T die U Had o7

802437117. )
www.FirstRanker.com
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RIRGAGIE
802437118.
802437119.
802437120.

Precambrian rocks are exposed in which of the following
cities?

Mumbai
802437121.

Delhi
802437122.

Lucknow
802437123.

Bhuj
802437124.

www.FirstRanker.com
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802437121.
802437122.
802437123.
802437124.

Extensive living coral reefs occur in which of the following
places?

Silvassa

802437125.
Kovalam

802437126.
Kavaratti

802437127.

www.FirstRanker.com



:l » FirstRanker.com

A FirstDinker's choice
802437128IT Diker I www.FirstRanker.com www.FirstRanker.com

5 I fhy STTe IR U Siltdd Uard ar urdt St 82

802437125.

802437126.

802437127.

802437128.

Which one of the following forces inhibits plate motion?

Slab pull
802437129.

Ridge push

802437130.
www.FirstRanker.com
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Trench suction
802437131.

Basal drag
802437132,

ST 9l 8 4 I 91 UH Wie & Tid I Uy HIdl o2

gg 3THYUT
802437129.

Fcd [dpuT
802437130.
802437131.

YR TAH YT
802437132.

Which of the following symmetry operations would give a result

T3 . is?
similar to an operation of a bar @v%n}m |r§ttl%rﬁ<xérs.éom
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A 6-fold symmetry axis with a mirror plane perpendicular to

it.
802437133,

A 6-fold symmetry axis with a mirror plane parallel to it.
802437134.

A 3-fold symmetry axis with a mirror plane perpendicular to
it.
802437135.

A 3-fold symmetry axis with a mirror plane parallel to it.
802437136.

=70 T DI JERUd] Y4d, IR 6 ERd] 38 & U Yaiad &
A gRomd e

Uch 6-deT YHR=UAT 3& & e~ U qUU Ialg G |

802437133.

U 6- 9 HHR=UAT 3& & GHHIAR U GUU 9dg 6|
802437134.

Ueh 3- 9 GHEUA] 3& & daey Udh GUUl ¥dg o
802437135.

: r =W
&) = = YUT dAG G
802437136. www.FirstRanker.com
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The texture in a graphic granite can represent which of the

following stages of crystallization in the Albite-Silica binary
system?

At liquidus in the albite rich composition
802437137.

At liquidus in the silica rich composition
802437138.

At the eutectic point
802437139.

At the temperature below the eutectic point
802437140.

AEHY UAI5C | &1 76, Telge-fadr fg=r vomdl |, 54

HLCTIHRU IR0 H Y BIF Udb b1 FEg0] B Gl 57

[cTldasy R UedTge UgR 9IS

802437137.

802437138. www.FirstRanker.com
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el @hifde dY fag IR

802437139.

el hifde dd féig 9 & diadH- W)
802437140.

The masses of the Earth's crust, its mantle and core are in the

ratio 7: 690: 303. Then their contributions to the Earth's
gravity field will be in the ratio

7:690: 303
802437141.

303: 690: 7
802437142.
802437143 ~303: /690: V7

J7:4/690: V303
802437144,

www.FirstRanker.com
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7:690: 303
802437141.

303: 690: 7
802437142.
802437143, ~303: /690: V7

J7:+/690: V303
802437144.

The Earth’'s magnetic field in the mantle

is zero everywhere, due to high temperatures
802437145.

increases sharply with depth
802437146.

decreases sharply with depth
802437147.

attains a finite constant value
802437148.

www.FirstRanker.com
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AR ¥ gad] &1 Jdd g &F

3ffes JUHE & HROT gt e TI B
802437145.

MfiRar & 9y 2Mydr @ dedr g
802437146.

TR & 9 WA Y gedi g
802437147.

U Ul fRRI® urd sdi g
802437148.

If o1, 02 and o3 are the principal stresses, then which one of the
following stress states is uniaxial?

g1202203>0
802437149.

J1 = U,D’g# U, 0':3.=U
802437150.

www.FirstRanker.com
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01 =02 =03 0
802437152.

qle gy, 0o AT 03, A Ulded &, 79 399 ° DIF 1 TP Uldad Sfaw
UdHTe 87

01202203>0

802437149,

0'1#0,0'2#-0, 0':3.:0
802437150.

o1 #0, 02=0,03=0
802437151,

g1 =0=03%F0
802437152, | 2 °°

The 27-day periodicity of magnetic storms observed on the
Earth is attributed to

www.FirstRanker.com
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rotation of the Earth around its axis.

802437154,

revolution of the Moon around the Earth.
802437155.

rotation of the Moon around its axis.
802437156.

U] R WA i Qb i 27-Cadi sradiar sy Seied g

T BT (U &l R YU
802437153.

g2d] T 30 318 IR YU
802437154.

ged] & IRI SR I=01 & RGBT
802437155.

TG H BT 39 378 IR gUiH
802437156.

www.FirstRanker.com
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The magnitudes of two earthquakes A and B are measured on

Richter scale as 6 and 5 respectively. Which of the following
inferences is valid?

The energy released in A is 10 times that of B.

802437157.
802437158, The amount of destruction in case of A is 30 times that of B.
The ground motion in case of A is 10 times that of B.
8024371509.
Earthquake A is 1.2 times deeper than B.
802437160.

&l Y&l A Td B & URAI &1 AU Reex UHH W HHL: 6 U4 5
1 T | 59 9T 3HET H © B 91 HR 67

AHHI S BH 10T 8

802437157.

AT Ui ST AT Y30 T8

802437158.

AP RIUREIIB I 10 TR

802437159:
www.FirstRanker.com
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YHJ A, HHUB I 1.2THI

802437160.

According to the NUVEL-lI model of global plate motion, the

correct sequence of the plates in increasing order of their
angular velocity with respect to the Pacific Plate is

South America — Antarctica — India — Nazca

802437161,

802437162, Antarctica — South America — India — Nazca

802437163, South America — Antarctica — Nazca — India
Antarctica — South America — Nazca — India

802437164,

df¥d wie T & NUVEL-1 Aisd & SFUR, UIid Wic & 9y el
&1 gl HH, 37 HIVIY IS 9gd PAH TG ¢

ST MR BT = ICThichT = HRd — ATom]
802437161. www.FirstRanker.com
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3{CThICHT — GIEUT SHRB- URA — ATSH]

802437162.

T80T AR BI- 3eThicdT — ATS®HT — UIRd
802437163.

3eThiedT — efém M e- I%dT — YRd
802437164.

The duration of the Cretaceous Normal Superchron (CNS) is
about

25 Ma
802437165.
802437166, -0 M3
802437167, 0 Ma

50 Ma
802437168.

www.FirstRanker.com
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25 Ma
8024371665.
802437166, 0 Ma
802437167, 70 Ma

50 Ma
802437168.

The S shadow zone on the Earth is nearly

same as the P shadow zone.

8024371609.

two times the P shadow zone.
802437170.

three times the P shadow zone.
802437171.

four times the P shadow zone.
802437172.

www FirstRanker.com
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U R S-JHT & AHT UG &

P ST &3 ST 8

8024371609.

P 74T &1 Y &l T[T

802437170.

P —3T4T & T ol T[T

802437171.

P 3741 &3 ¥ IR 1T

802437172.

For seismic wave propagation, the Earth acts as

high cut filter.

802437173.

low cut filter.
802437174,

all pass filter.
802437175.

www.FirstRanker.com
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Y4l T YURUT & [T gl 98 &Rl Hdl &
3= HIc Dol
802437173.
802437174. EN “
9d g ol
802437175.
3= Me™ SaHl
802437176.

The ray path of a body wave propagating through an isotropic,
radially symmetric layered Earth model is

a curved path due to the spherical shape of the Earth.
802437177.

802437178. www.FirstRanker.com
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a curved path due to linear increase in velocity with depth.
802437179.

a curved path due to dispersion.
802437180.

Udh YHCRI®, 3 &1 4 Y=Y WRd gl Alsd & Areqd
TR U &1 a3d &1 {0 Uy T8 §

ged] & TMdIPR giH &1 9518 J Uh dbig gy

802437177

e e 3

802437178.

TRl & G 97 H WY gl & SR dh g Uy

802437179.

H%Uhaﬁaaﬁﬁraaﬂtlm}

802437180.

www.FirstRanker.com
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Noctiluca
802437181.
Diatom
802437182.
Copepod
802437183.
802437184, Vodularia
=78 9 &9 91 U WU o9 T8l 672

FiaeegabT

802437181.

L
802437182.
802437183.
802437184.

www.FirstRanker.com
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Which one of the following is true for ocean?

[HCO3] > [CO3%] > [H2CO4]
802437185.

[HCO3] < [CO3?] < [H2C 03]
802437186.

[H2CO3] > [HCO3] > [CO32]
802437187.

[CO2*] > [H2C O3] > [HCO4]
802437188,

T & [0 399 T &I 1 UP ol o7

[HCO3] > [CO3%] > [H2C O3]
802437185.

[HCO3] < [CO3?] < [H2C O3]
802437186.

802437187. www.FirstRanker.com
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[CO3?] > [H2CO3] > [HCO3]
802437188.

Redfield ratio refers to the

ratio among the different conservative tracers in the ocean.

802437189.
ratio of calcium to magnesium in foraminifera.
802437190.
mean molar ratio of carbon, nitrogen and phosphorus in the
organic matter.
802437191,
ratio of carbon, nitrogen and phosphorus in the surface
802437192. WaIEES;
Yefthes oUd Sfd HdT 8

www.FirstRanker.com
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8024371809.

T RIFHIGRT | SicRrad 9 AffRrs o1 eurd

802437190.

HleHD Uar! o @red, A1sciod Ud BRHRY &1 319d HleR

802437191.

el ofd H ®leH, A5clod Ud BRHRY &1 30T
802437192.

Which one of the following fishes is a mesopelagic fish?

Argyropelecus affinis

802437193.
Eurypharynx pelecanoides
802437194,
802437195, Ceratias holboelli
Deep-sea angler-fish
802437196.

www.FirstRanker.com
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S Al H &1 AT U He-3rgdl o g7

SRR Y U114
802437193.

BRI BTISY

802437194

- Ry gicangel

802437195

TR IR ek 5o
802437196.

What type of a marine environment would have slowest rate of
recovery from a large oil spill?

cyclonic gyres
802437197.

anticyclonic gyres
802437198. y 9y

www.FirstRanker.com
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802437199.

cold environment with little wave action
802437200.

U$h 98 dd AfId T g R & IR ugiao gRI 9ay e
X ¥ Ued oY fRufd & O wifed gt

EEREIRIRUE
802437197.
yfcrersardt qui
802437198.
fasdre=ia sa
802437199.
e T {shaT & 91y 2iiae ugiaro
802437200.

Which of the following satellite does NOT provide information

DH ﬂﬁﬂﬂﬁlﬂ l'i h ] ﬂ+ﬁf’)
oo COre i atTy ety

www.FirstRanker.com
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802437201.

ERS-I &I
802437202.

Coastal Zone Colour Scanner (CZCS)
802437203.

TOPEX/Poseidon
802437204.

=78 O S 91 IUTE INRI MERATI St STHBRI A8l odl 62

GEOSAT
802437201,

ERS-1 T4 ||
802437202.

dcra &= gui faanfaere (czes)

802437203.

TOPEX/UITSIH

802437204.

www.FirstRanker.com
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The magnetic North Pole is currently migrating from Canada
towards which of the regions given below?

Greenland
802437205.

Siberia
802437206.

lceland
802437207.
802437208, 1\Merica

qaAH § Jad i I 4d, HAST U 34 Aid 68 T H 9§ {69 B
RIMITR &R G152

dds

802437205.

802437206.

802437207.
www.FirstRanker.com



:l » FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

802437208.

Which one of the following DOES NOT influence the Latent
heat flux at the air-sea interface?

atmospheric pressure
802437209.

wind speed
802437210.

relative humidity
802437211,

evaporation
802437212,

TR-TH% 3RTYSS UR 30 © DI 91 U W 31 Ua1g &l YHIiad
gl Bl 672

G G AL

802437209. www.FirstRanker.com
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802437210.
qUfed 3l
802437211.
802437212.

Which one of the following processes can be related to the
‘continuity equation’?

Divergence or convergence at a given horizontal level leads

to vertical velocity.
802437213.

Ocean currents tend to flow parallel to isobars due to the

802437214, Coriolis force.

The upward pressure gradient force is almost in balance

with downward gravitational force.
802437215.

Wind-driven turbulent mixing generates a mix layer in the

upper ocean.
802437216.

www.FirstRanker.com
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802437213

DI 9d & HRUI IR YR JHGE & YHMIGR 94 Bl
a8 Bl © |

802437214.

3 Td Yauidl §d Ud Al vd 99 aH Sqad 0§ |
802437215.

W IR H arg-Aiierd 31=0d HyvE U@ B9 98 &1 394
TRATE |
802437216.

Select the CORRECT group of forces which are primarily

considered in the derivation of Ekman spiral in the upper-
ocean.

wind stress, pressure gradient, friction
802437217.

www.FirstRanker.com
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pressure gradient, Coriolis force, gravitational force
802437219,

wind stress, Coriolis force, gravitational force.
802437220.

el el & q9g B g e Sut IR H tedd offa & agafy
4 9 EU Y [99R (a1 a6

arg ufded, &1d uqurdr, g9y

802437217.

a1y ufdad, SIRAey 94, gy
802437218.

&Td Yqurdl, $IRAl Y dd, Tod dd
802437219.

arg yfdad, SIRAITd o, Tod Jd
802437220.

www.FirstRanker.com
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the principal restoring force?

Internal waves

802437221,

Tsunami
802437222.

Standing waves (Seiche)
802437223.

Capillary waves
802437224,

g 68 T R a8 § B 91 U6 & (oY 9dg d-1d 9% U:
YT 97 82

—
802437221.
802437222.
¥ THha .

&8 I (WA GidH)
802437223.

1= ﬂ'::,‘ I.
802437224.
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River discharge is estimated on the basis of

Unit hydrograph
802437225.

Hyetograph
802437226.

Rating curve
802437227.

802437278, Current meter

c1 faTsiH &1 b d- 59 YR R fHar Jdr s

SHIG START
802437225.

gyur 91

802437226.

802437227. www.FirstRanker.com
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YRT HIYD
802437228.

The highest variability of annual rainfall in India is observed
over the

Thar desert region

8024372209.

Assam valley region
802437230.
802437231, Central India

East coast of India
802437232.

W?WWWW&%&QGM 59d 3R Ugdied fban
SITa

802437229. www.FirstRanker.com
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3T 91T &7

802437230.

802437231. HH

HRd D] dc
802437232, Igﬂf

Littoral drift is the volume or mass of sediment transported by

longshore current and wind-drift
802437233.

beach drift and rip currents
802437234,

swash and wind-drift
802437235.

longshore current and swash
802437236.

www.FirstRanker.com
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Jfdcit dIg 3 ATYIG BT AT 91 Go0HM ¢ ol & 59 1 gl
aRT 3Udlied BIdT &

ddiddl ¢RI U4 d1gdig
802437233.

gfer d1e Ud Rl
802437234.

J1d- U4 91g dTg
802437235.

diel 4RT U9 Iald
802437236.

A drainage system, which has maintained its general direction
across an area of localized or regional uplift is known as

annular drainage.

802437237.

antecedent drainage.
802437238.

truncated drainage.
802437239.

www.FirstRanker.com



:l » FirstRanker.com

A rirstroffisetsdhainage.

802437240 www.FirstRanker.com www.FirstRanker.com

Udh 3Udig dF o U R a1 &8l IUH & 3R-UR 3UH
A a2 &1 SRR B2 41 6, 76 Hedldl o

CIEICARES LI
802437237.

.WW

802437238

8024372309.

802437240.

In an iscbaric/adiabatic process the temperature that is

attained in an isobaric process when water vapour, present in
a sample of air is condensed, is called

wet buib temperature.
802437241. www.FirstRanker.com
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virtual temperature.
802437242,

equivalent temperature.
802437243.

dew point temperature.
802437244,

Udh HGE /R ufthar |, 98 I9AF Sl f Udh JHaEm
yfchar # 591 & 1A § IUTRUT 9™ & Y9 §F IR U §idT ¢,
% SHedldl o

9 dod dIUaE
802437241.

STHTST IMaa=
802437242.

O diga
802437243.

s fdg amaaH
802437244,
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The concentration of the trace gases by volume in the lower
troposphere in decreasing order is

Nitrous oxide; Carbon dioxide; Methane: Nitric oxide

802437245.

Methane; Nitrt:us oxide: Nitric oxide; Carbon dioxide
802437246.

Nitric oxide; Methane; Carbon dioxide; Nitrous oxide
802437247.

Carbon dioxide; Methane; Nitrous oxide; Nitrogen dioxide
802437248.

(T effuHSd § SfeTHmET 191 B 3 & I9R Figdl 9ed HH |

Qe
qI5cy Aldgs; HE Sls3dss: HidH; ABcH AREs
802437245.
i ARCH s ; A5cy Jdugs; Hle- SlEAHHES
802437246.
TIEcy JdE s HiUH: Bl SEAaEs: d5cd AdHES
802437247.
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SRS S

802437248.

Which one of the statements about satellites in the geo-stationary
orbit is INCORRECT?

They orbit at a height which is about 5.6 times the radius of

the Earth.
802437249.
They move in the opposite direction of the Earth’s rotation.
802437250.
They complete a single orbit in one sidereal day.
802437251,
GSAT and INSAT satellites are placed in geostationary
orbits.
802437252.

JeIBTd! 3UUE! & aR H 5944 I BIH U1 HYH TAd 67
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802437249.

d gl B gulH Bi el [GMHA AT B |

802437250.

d 3Tl FH&fl Bl Uh dR Udh & [¢aq H gl Hd 6 |

802437251.

GSAT U4 INSAT SUE qeddcl hafmsl H §

802437252.

In the ICAQO Standard Atmosphere (ISA) the lapse rate
(*C/km) in  the 11- 20 km layer is

802437253, 9.9
9.8
802437254,
- 0.001
802437255,
802437256, °

www.FirstRanker.com
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ICAO HF® dHSd (ISA) & 3TIR 11- 20 km Hdg H g &3
(°Clkm) TG &

802437253, 29
9.8
802437254,
- 0.001
802437255.
802437256, O

The seasons on the Earth occur primarily because of

the variability of the earth’s distance from the sun.

802437257.
shifting of ocean currents.
802437258.
802437259, the tilt of the Earth’'s axis of rotation.

www.FirstRanker.com
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gl R B3l & §H H1 I HRUI TG ©

i ¥ gl B gl | uRafdd

802437257.

2! YRT3M BT IRl
802437258.

gdl & YU 3M&f DI FBT G
802437259.

Sic HRT
802437260.

Which of the following is a diabatic process?

802437261. Cenyecion

nhic liftina
S

www.FirstRanker.com
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Radiational heating or cooling

802437263.
Rising air due to convergence in the Planetary Boundary
Layer (PBL).

802437264.

58 T B I TP Ufdsa ™ ufchdr g2

Hag

802437261.
Uddra 33

802437262.
fafdor ara= 4 2fidaH

802437263.

N o YR &R (PBL) H SR & 6RUT 3R 91

Rossby number is a ratio of

www.FirstRanker.com
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M Firstinextial fosae to Coriolis force.

mechanical production to buoyance.

802437266.
802437267, inertial force to viscous force.

inertial and gravitational force.
802437268.

RIS ST U U ©

Soddd 9 BRI dd &1
802437265.

i® IdG Y Iada &1
802437266.

Sed §d U HEEd Bl
802437267.

9Sd Ud Tod dd &I
802437268.

www.FirstRanker.com
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The rate of change of relative circulation following the motion
for a barotropic atmosphere can NOT change due to changes in

meridional location.

8024372609.

802437270, 2rea of domain.
802437271 zonal location.
802437272 inclination of domain.

19 Y@ aHSd o foU T1fd BT SR Hd §U e TREER0l
& URGdRITAd &1 & 59 URGdHl & BRI 95 Tl Jbdl

AR Rufa
802437269.

U&a &1 AR
802437270.

BRG]
802437271.

www.FirstRanker.com
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802437272.

The time interval between consecutive ‘Spring Tide' and ‘Neap
Tide' is

14 days
802437273.

1 day
802437274.

28 days
802437275.

7 days
802437276.

U & 91 Udh 9o SaR Ud a9 SOR & sid 1 GHY 3=RTd Bidl
87

14 a4

802437273.

www.FirstRanker.com
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28 fa
802437275.

7 e

802437276.

The cone of depression in groundwater forms

around a dry well

802437277.
in the freshwater of a fast-pumped flow well.
802437278.
in the salt water intruding from the sea to the well.
802437279.
802437280, N @ sink hole.
YoId H 3[4 & 99dl &

www.FirstRanker.com
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gd $U & IR7 3R

802437277.

802437278 Ud oSt § 9 §U HR U S HiS 5 H

802437279. T ¥ S(qdy HXd DM oI |
gl 3y °

802437280.

www.FirstRanker.com
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following combinations?

The SoS plane is parallel to foliation and perpendicular to
stretching lineation.

802437281.
The SoS plane is perpendicular to foliation and parallel to
stretching lineation.

802437282.
Both foliation and stretching lineation are parallel to SoS
plane.

802437283.
Both foliation and stretching lineation are perpendicular to
SoS plane.

802437284.

UG BT d1Y (SoS) Tde o4 YaloHl H U dhdl U I uRHId
gId1 87

S0S UdE b+ & GHMIAR Ud T a0 & IR &

802437281.

SoS Udg eh & IR Ud 99 GG & GHHIdR ©
802437282.

802437283.
www.FirstRanker.com
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JTedh1 Ud o= TAUT GIHT SoS & JefeR &

802437284.

Match the following :

Deformation setting Structure
A. | Convergent P. |Tulip structure
B. | Divergent Ramp Anticline

Q.
C. | Strike-Slip Transpression |R. |Metamorphic Core Complex
D. | Strike-Slip Transtension |S. |Palm tree structure

Choose the correct option.

A—=Q;B=5;C=P;B=R

802437285.
A-Q:B-R;C-5;D-P
802437286.
A-R;B-S5;C-P;D-Q
802437287.
A-S:B-R;C-Q;D-P
802437288.

www.FirstRanker.com
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eI NIGIGE
faequr f=arg AT
A | SIYERT p. | oJfcTd I
B. | STURI Q. | ¥ smAfd
c. | Afdde uu-uRr R | PAIAR ®lg

gutsH qafy
D. | Afddd gdu - S | T & G-

YRd-ld

T [ahed &1 9o

A—-Q,B-§;C—-FP.D-R

802437285,

B—ROB — e G [ P
802437286.

A~F; B=5;C=F; O—Q
802437287,

A—-§,B-R;C-Q; D-P
802437288.

Coulomb’s law of failure differs from Byerlee’s law of failure in
which one of the listed characteristics?

www.FirstRanker.com
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Applicable for intact homogenous rocks.

802437290.

Law for shear failure.
802437291.

Includes a coefficient of friction.
802437292.

G Bl [qBad] & (499 FERiey & f[dbhadl & Ha9 9 34 giaag
Al | § 9 U 1§ 51 67

U fAthd 3M19d &1 ARAT Bl §

802437289.
802437290. Sed ﬁlﬁ % ﬁqu %
U= [dBAdl & [eU [HaH
802437291.
Ud gy 0T bl HiWfeld Hdl &
802437292.

www.FirstRanker.com



Il » FirstRanker.com

A Firstranker'schoice / |
www.FirstRanker.com www.FirstRanker.com

The following assemblage of foraminifera are recorded from

bottom to top of a stratigraphic section :
Uvigerina, Bulimina, Globorotalia
Eponides, Lenticulina, Textularia
Quinqueloculina, Ammonia, Cibicides
Trochammina, Ammobaculites, Miliammina
The stratigraphic section represents

Lowstand System Tract.
802437293,

Highstand System Tract.
802437294,

Transgressive System Tract.
802437295,

Falling Stage System Tract.
802437296.

www.FirstRanker.com
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SfffeTRa faam

UGI38Y, H-cplcld], CRTTING]
[P, SHIS, I sd
CIBIR, SIGGAZCH, [T
RS U SHEHT U@ Hdl &

freT dfeyfa gomeft

802437293.

I=3 gfeyfa gomet

802437294.

Sffcreh Tt wfRyfa yomredt

802437295.

U TRUT GRYT Yurrelt

802437296.

Which one of the following statements is correct?

Load cast forms by erosional processes.
802437297.

802437298.
www.FirstRanker.com
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The bounce mark occurs at the top of a sandstone bed.

802437299.

Current crescent forms against an obstacle.
802437300.
M HYE 4 9 HH I Uh Jol 672

R Ufhareii # died e Id1 ol
802437297.

[g=ur &0 &1 @ifd g ufaHfda sar gl
802437298.

91 UeR YR & 2 IR ISTef 9 Sl 6 |
802437299.

T &P [G¥g YR ISR §d1 o
802437300.

www.FirstRanker.com
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is known as

packstone.
802437301.

grainstone.
802437302.
802437303, wackestone.
802437304. hoaistone.

TTHIT 10% T G TR U HU-GAT gHAIRR S 59 SHT
SITdl &

802437301.
HUL-TRUR
802437302.

802437303.

802437364~

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Consider the following thermobarometric equations:

Reaction A: KAISizOg + NaAl2(SiaAl)O10(OH)2 = NaAlSi;Og +
KAIz(SisAl)O10(OH)2

Reaction B: Mg3Al2Siz012 + KAl2(SizAl)O10(OH)2 =
KMga(SisAl)O1p(OH)2 + 2AlSi0s + Si02.

Which of the following is TRUE for reactions ‘A’ and B'?

‘A’ is an example of barometer; ‘B’ is an example of

802437305 thermometer
‘A’ is an example of thermometer; ‘B’ is an example of
barometer
802437306.
Both ‘A’ and ‘B’ are examples of thermometers
802437307.
Both ‘A’ and ‘B’ are examples of barometers
802437308.

www.FirstRanker.com
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fhaT A : KAISisOs + NaAlz(SizAl)O10(OH)2 = NaAlSiaOs +
KAl>(SisAl)O10(OH)2
BT B : MgsALSisO12 + KAly(SisAO10(OH)2 =
KMga(SizAl)O10(OH)s + 2A1:Si0s + SiO5
fohamal ‘A’ IUT B’ & Tt 541 I &I ol 572

‘N’ T GIIHITS Bl IS0 & ‘B’ Udh dIUHIUS &I IGI60 o

802437305.
‘A’ Teh dTqHIIS T F&TGRI &; ‘B’ U QI oI JaTeRU &
802437306.
‘A’ Td ‘B’ GIFl dTUHTIS 6T ICT6R0T §
802437307.
ip Tt . q =
802437308, > 99 B GIHI GTIATTD BT IETER ©

Which one of the following textures explicitly form during
decompression stage of a metamorphic P-T path?

802437300, Corona texture

Granoblastic texture

802437316-

www.FirstRanker.com
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802437311.

Spherulitic texture
802437312,

T4 T DIF °1 U 16 Wred] Ud HIaTaRul P-T 9y & fadfysd
RN & SR & 872

8024373009.
USR] T3
802437310.
e 8 9reRor fde g asfiao
802437311.
Thedlge ] 184
802437312.

Choose the correct sequence of minerals that are usually

crystalhzea from the cooling of magma (RAigh-1 1o Low-1 ).
www.FirstRanker.com
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MQQSi04 — Cazmg58i8022(OH)2 — MQQSiQOE —+ KAISisDB

— KMga(SisAl)O10(OH)2
802437313.

NaAlSisOg — C32M958i8022(OH)E — KA|2(Si3A|)O1{}(OH)g

— Si02 — KAISi;Og
802437314

MQQSiO4 = MQQSiEOE — CagMgf.SigOgg(OH)g —

KMgs(SizAl)O10(OH)2 — KAISisOs
802437315.

KAISisOs — NaAlSiaOs — Mg2Si20s — SiO2 —

KAIl2(SisAl)O10(OH)2
802437316.

Al & gl HH B 91 S G U6 QddieRol gid JE1 Y
fohediad gan (3<d -T ° (H4H-T).

M925i04 — Cazhﬂg55i5022{OH)2 — MngizOE —* KAISisDa

— KMgs(SisAl)O10(OH)2
802437313.

NaAlSisOg — CHQMQ5Si3022(OH)2 —¥ KA|2(Si3A|)O1{}(OH)2

— Si02 — KAISi3Os
802437314

802437315.
www.FirstRanker.com
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KMga(SizAl)O10(OH)2 — KAISi3Os

KAISisOg — NaAlSisOs — Mg2Si20s — SiO2 —

KAl2(SizAl)O10(OH)2
802437316.

Which one of the following mineral pairs are NOT polymorphs?

Quartz - moganite

802437317.
Chrysotile - Lizardite
802437318.
802437319, Anatase - Brookite
Marcasite — Chalcopyrite
802437320.
=9 T I § U DIF 91 UH 954 ol 672

www.FirstRanker.com
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802437317.

HECEd - ereige

802437318.
802437319.

A& NI5C — Al URRISC
802437320.

A homogeneous liquid with binary components FeO - SiO:

cools, at a constant pressure, to a temperature at which it
unmixes to form two liquids of different compositions. On further
cooling to the complete equilibrium crystallization,

there would be four minerals, two crystallizing from silica rich
liquid and two from FeO rich liquid.

802437321.
the silica rich liquid would crystallize a silica mineral, while the
FeO rich liquid would form a glass.

802437322.
there would be fayalite and a silica mineral in eutectic
proportion.

802437323.

802437324. www.FirstRanker.com
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silica mineral.

Ud [RRI® g1d |, fg=R 9P| FeO - Si0, aTd Udh TASY d3d &l
U JI9HH o R 95 &l [l 9gio[ & ava J AHigd g g &
AR e Bidl o1 U0 IHaRT FIAHU B RE 3R 3
Fded R

IR @ g4, &l [{fereT YR aRd U U4 &l FeO UdR akd 4|

802437321.

RiferepT TR dRa T Rferapt Wis HEccildh o 4, Sdfd
FeO U=k d3d U hid a1 |

802437322.

TeGifdd A # BrIdrse Ud [fcdt @i a1 |

802437323.

Bid & e BIdIge g1 1 98 (i1 Wis 9 s 3 |

802437324.

www.FirstRanker.com
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in a well is 1 m. The well is situated at an elevation of 2 m above

mean sea level. What should be the depth of freshwater-saline
water interface below the ground surface?

802437325. 40m
802437326. 42m
80 m
802437327.
38 m
802437328.

U ST a¢H SaYd & U $U H YoId dd ®I THRAT 1m B
G 39d THEUAE 9§ &l Hicx &t $a W YT §1 Yude ¥ Hi6

STd-AR S SdRIYSS ] THRAT &1 giHT digu?
802437325. 40m
802437326. 42m
80 m
802437327.

www.FirstRanker.com
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The ‘depleted mantle’ model age of a rock, as calculated using
Sm-Nd systematics is 2.5 Ga. It means that

the isotope ratios "Nd/'**Nd in source of this rock at 2.5
Ga were the same as in the depleted mantle at that time.

802437329.
this rock crystalized at 2.5 Ga.
802437330.
the *7Sm/"**Nd and the "**Nd/"**Nd ratios in the rock were
same as that in the depleted mantle at 2.5 Ga.
802437331.
The terrane that it is fdund in, formed at 2.5 Ga.
802437332.

Sm-Nd a1 § T0HT &f T T A D *Sderdt WaR Jisd 3y
2.5 Ga &l 3P HAAH ¢

802437329. www.FirstRanker.com
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R Id-1 ot U1 ford=1 fb 39 999 & 3@adi UaR | o7 |

S Ud P [hicdldHv] 2.5 Ga TR g2 |
802437330.
A & 47Sm/144Nd TUT ¥3Nd/144Nd 3UTd I ol U o I
&I UAR T 2.5 Ga TR AT |
802437331.
d% YUFT fSRYH I8 Uil SIdl 8, 2.5 Ga UR &1 AT |
802437332.

Paired metamorphic belts, which juxtapose HP/LT and LP/HT
metamorphic belts, are typically associated with

greenstone terrains

802437333,

convergent plate margins
802437334,

mid-oceanic ridges
802437335,

transform plate boundaries
802437336.

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

qid HEARd afedi, ST HP/LT a7 LP/HT drIaRd ufsal &
3 U ATl g, 3G &9 H 59 91y H&led gidl 5

SRATRR YT
802437333.

TR wie 3uid
802437334.

H-Yg! heh
802437335.

FUdRd wie uREda™
802437336.

www.FirstRanker.com
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and their ages?

Stratigraphic Unit Period
A | Dhosa Oolite E Palaeogene
B Karai Shale F Cretaceous
C | Maleri Formation G | Jurassic
D | Lakadong Limestone H | Triassic
A-E, B-F, C-H, D-G
802437337.
A-G, B-F, C-H, D-E
802437338.
A-G, B-E, C-H, D-F
802437339.
A-G, B-H, C-E, D-F
802437340.

www.FirstRanker.com
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8?2

TRIPd 55 o]
A AL Jhdlgc E NREISIG
B g A F | foelRmg
C ERRRERE c | s
D ATBISIT AT TRR H | oy
A-E, B-F, C-H, D-G
802437337.
A-G, B-F, C-H, D-E
802437338.
A-G, B-E, C-H, D-F
802437339.
A-G, B-H, C-E, D-F
802437340.

Porphyry type Cu-deposits are formed in which of the following
tectonic setting?

Spreading centre
802437341.

802437342. www.FirstRanker.com
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802437343, Continent-continent collision

Continental arc
802437344,

RGBS UHR Cu-Het 598 ¥ 69 [9ade oga=n d §99d 572

TR &%
802437341.

gl gy =™
802437342.

AGTaId-HeTald W
802437343.
802437344. s

www.FirstRanker.com
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The Fourier transform of a function f(t) is sin w. Then, the

Fourier transform of t%f(t) is

sin w
802437345,
sin w?
802437346.
w? sin w?
802437347.
w? sin w
802437348.

U B f(t) BT BRU FYIARY sin o &1 dd t2f(t) BT HRAU
YR B

sin w
802437345.
sin w?
802437346.
w? sin w?
802437347.

www.FirstRanker.com
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An input signal x(n) = {2, 1, -1} is passed through two serially

connected linear time-invariant systems h1(n) = {1, -1} and h2(n)
= {-1, 1}. The output signal y(n) will be

{0, 0,0, O}
802437349,

2849, 1)
802437350.

2. 3. 1, 3, 1}
802437351,

{1y 3131
802437352,

U [ x(n) = {2, 1, -1} DI &l AAHHS I AP GHT-3Td
IR h1(n) = {1, -1} TUT h2(n) = {1, 1} GRT IR fda1 71|
fd ¥od y(n) T5 BT

802437349. www.FirstRanker.com
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2849, 1)
802437350.

2.3 1,3, 1}
802437351,

{1y 3131
802437352,

A spherical ore body with a density of 3.0 gm/cc is surrounded

by country rock of density 2.7 gm/cc. A gravity profile across
the body recorded an anomaly of 0.1 mgal at a distance of

100 m from the position of the maximum gravity anomaly, which
is 0.3 mgal. The ore body weighs (in units of 10° tons)

0.45
802437353,
802437354, 120

2.25
802437355,

4.50
802437356.

www.FirstRanker.com
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U Tl 3 fie fogdT 99d 3.0 gmice §, T MM A
[org@1 99d 2.7 gmicc & 9 TORT g3 §1 3i¥dHdH o fa9id,
Sl fdh 0.3 mgal &, ®! TUT T 100 m T W 39 (U & 3RUR U
e UIRdlH 9 U 0.1 mgal Bl [q97fd 3HciRad B oo U
HTHR G (106 i Bl 5IIg H)

0.45
802437353,
802437354, 120

2.25
802437355,

4.50
802437356,

www.FirstRanker.com
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across a sulphide vein. The maximum anomaly occurs at point

O. Then, the vein dips due

east and its top lies towards east of O.

802437357.

west and its top lies towards west of O.
802437358.

east and its top lies towards west of O.
802437359.

west and its top lies towards east of O.
802437360.

www.FirstRanker.com
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I UaiId Bl ¢ Ay [agifd fdg 0 W gl ¢ dd RBRT
= 3R Ald B

Ud U4 I9HT Y O & Ud B % R¥Ud B

802437357

gfem vd 39H1 Y O & Ufdd &l v Rd g

802437358.

Ud Ud 3BT 2N O & UiEH B R [Ud ol

802437359.

gf%T ud I9H1 2MY O & gd B IR U Bl

802437360.

X, Y and V are the components of the Earth’s magnetic field F, X

being along the geographical north. H is its horizontal
component and i and & are its dip and declination respectively.
Then, at a place on the Earth's surface where F is minimum, the

Ao Tl smo

value of Vsmni+Hcosi |§ www.FirstRanker.com
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9
802437361.
V3/2
802437362.
802437363. 172
802437364.

UITfer IR & WrY-TTY T6dl 5T el & abid &7 £, X & 9ed
X Yaul vV gl H-8fdS 9c® ©, / Ud & HH: 59 Aid U4 feaurd

Xeosd+Yand

&1 9 Uyl R 3Y ®IFH R 9Gl £ [HFdH G, Vsini+Heosi &I AM
Tt

802437361. 1

802437362. ﬁfz

802437363. 172
12

802437364

www.FirstRanker.com
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The distance between the points of the maximum and minimum

anomaly values along a total field anomaly profile across an
anomalous body resembling a single pole is 224 m. If the
magnetic latitude of the place of survey is 30°, then the depth to

the pole is

802437365.

802437366.

802437367.

802437368.

112 m

100 m

86 m

72 m

Udhd Wi oY U (49T U8 & SR-UR Ud G & [a¥ld urd =
& GIY-Y1Y Il U4 ([H=ay fagmid g & fdgai & dfd &t gl
224 m G| & & RIH &1 AlG d96 14 &2 30° 5, TH dP TRl

g el

802437365.

www.FirstRanker.com
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100 m
802437366.
86 m
802437367.
m
802437368.

In the time-distance plot for a seismic survey over a two-layered

medium, the travel time at which the direct P wave intersects the
refracted wave is 3s. Estimate the depth to the velocity interface,
assuming the slope of the direct wave to be 0.5s/km and the
velocity of the lower medium to be twice the velocity of the upper
medium.

1.73km

802437369.
2.73km

802437370.
3.73km

802437371,
4.73km

802437372,

www.FirstRanker.com
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[g-d% H1e0H & HWR U YDhUlg el & feft GHY g3l Sfieid &,
et p-T3T I 3Uad T & Hicd B IHT 99T 3s &1 Tg A o
b el O D1 STt 0.5s/km T 4=TaR A0 i TTfd Iedak A1eqd
P1 Td Y GIHI 6, T S{RIISS Bl RT3 Bl SAThe B

1.73km

802437369.
2.73km

802437370.
3.73km

802437371,
4.73km

802437372,

Assume that a Poisson solid is subjected to a longitudinal stress

(0xx) while the transverse stresses are zero. Then, the
Young's Modulus(E) in terms of Modulus of Rigidity (u) will be

E=pn
802437373.

www.FirstRanker.com
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E=2.5p

802437375.
E=3pu

802437376.

A o {6 TP UIg9 619 &1 U 3G Uad (0x) B e
T Seid 3R Uided X 6| dd €gdl & 0N () & IR
g1 P17 (E) TE &I

E=pn
802437373,

E=1.5u
802437374,

E=2.5p
802437375.

E=3pu
802437376.

www.FirstRanker.com



:l » FirstRanker.com

A Firstrankdy'sehpide
' www.FirstRanker.com www.FirstRanker.com

Which one of the following statements is correct?

Zero-offset rays are always perpendicular to the data

acquisition surface.
802437377.

Receiver arrays are used to suppress ground roll.
802437378.

Time migration honours ray bending across an interface.
802437379.

Dix's method of estimating interval velocity is valid for any

surface model as long as all layers are isotropic.
802437380.

=18 9 &9 91 U YT 9ol 672

- 3fdald fh 0l SHR MBS 2o Jag I od gidl o

802437377.

Toldl o &1 39N HH §a4 & 3AaRIY & U a1 S ¢ |
802437378.

3{qiY UMY Udh HdRUSS & SRUR {0 Y31 DT GHMH Bl
802437379. %l

www.FirstRanker.com
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[t ot weTE HISd & U 9 Gl ¢ |

802437380.

A country rock at temperature T, is intruded by a thick dyke at

temperature T,,, (T,, > T.). Assuming that the temperature of the
dyke remains constant with time, the temperature in the
country rock away from the dyke contact will decrease as

an exponential function

802437381.

a linear function
802437382.

a hyperbolic function
802437383,
802437384, an error function

www.FirstRanker.com
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ORI dUHE T, ©, & 3fax s dxdl ol M d & S5 31
JTHH THT & U1 R Xgdl ¢, WIHT I d 36 & 9Udh U

R DI IR d9H B FRIGE 38 U e 4§ Bl
802437381. W e
802437382. %Eﬁ R
802437383. W e

i Bad

802437384.

An oceanic plate is moving away from the spreading center at a

speed of 6 cm/yr. Assuming that the plate motion is constant
with geological time, the location of the Gauss - Gilbert
paleomagnetic epoch boundary from the spreading center
will be at approximate distance of

155 km
802437385,

185 km

802437386.
www.FirstRanker.com
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215 km
802437387,

255 km
802437388,

TS GHg! WE 6 cm/yr DI 110§ TR &= 4 g 91361 ¢l HH d fd
YIS FHT & T Wie Tid RBR G, TR & J T9- fee Qw11
e 14 I AT AT T 59 g W gl

155 km
802437385.

185 km
802437386.

215 km
802437387,

255 km
802437388,

www.FirstRanker.com
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on the Earth surface and 5 Ampere current flows through the
subsurface. Two potential electrodes P1 and P2 with electrode
separation 10 m are placed between C1 and C2 such that midpoint
of P1 and P2 is located at 400 m from the midpoint of C1 and C2. If
500 mV potential difference is measured between P1 and P2, then
the apparent resistivity (in Qm) will be (do not use approximate
formulation)

8024373809. #1e

802437390. 518

802437391. 618

802437392.

&l YR fAEGU C1(+1) TUT C2(-1) Y2l Bl Fdg W 1000 m X 3@ T
& Ud 3uyas 4 5 UEER &l YRT 65 6! 6| (996 Uyddl 10 m &
1Y & {ayd fde[ey P1 T4 P2 $I C1 U4 C2 & ol 8 dvg X1 6 (b
P1 U4 P2 % Y [4g C1 Td C2 & A foig T 400m o3 | U 5
gi¢ P1 U4 P2 & dfd 500 mV &I fdUdicR AT T, d9 Ul
UioRTe Tl (Qm H) g BT (Hsde B0 BT WarT el H)

www.FirstRanker.com
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802437390, °1°

802437391, 010
718

802437392.

If in an electromagnetic survey, dip angle is measured over widely

spaced vertical conductors along a profile, the number of false
crossover in the dip angle anomaly will be

802437393.

802437394.

802437395.

802437396.

www.FirstRanker.com
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% [dgadadiy gdau ¥ U6 URdid & 9-gY X ®i1Hd
SR HaATeD| B HUR AlIbIV BT HIGH a1 74T, Afdpior fawfd
o Ffe fafmrr ot Yo gg gl

802437393.

802437394.

802437395.

802437396.

An over pressured zone encountered in borehole logging is
characterized by

high porosity and high density

802437397.

low resistivity and low density
802437398.

low resistivity and low porosity
802437399.

www.FirstRanker.com
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802437400.

Jufars Tora # 2o fEd e U 2ifie gard &7 &1 559 afa
fepsror fepan ST &

3od UYdl Ud 3=d 99
802437397.

= UlfdRIeddr vd = 99
802437398.

= Ul dr Ud {45 gedr
802437399.

[ I3yd1 ug [+ 99a
802437400.

As per Gutenberg-Richter relationship for global seismicity, how

many earthquakes of magnitude 2 will occur given the number of
earthquakes of magnitude 6 to be 100 and b value tobe 1.5 7

802437401. www.FirstRanker.com
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802437402.

802437403.

802437404.

108

108

101[}

www.FirstRanker.com

www.FirstRanker.com

af¥® YHudl & AU T[ear-Raer Y9y & SR, fhd GRHAT-2

ard Yoy g1, SIaid a7 a1 § 1 UiRHTv 6 & Yeby 100 UG b &1
158 ?

802437401.

802437402.

802437403.

802437404.

104

108

108

101[}

www.FirstRanker.com
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In case of resistivity sounding over multi-layered earth if A¢(%.) is

the kernel function then the correct relationship between
resistivity transform function ‘T(») and Ai(r) is (p1 is the
resistivity of the first layer)

T(A)= pi{1+2A1(1)}

802437405.

T(n)= p1{1+A1(2)}
802437406.

T(.)= pr+{1+2A1(2)}
802437407.

T(n)= pr+{1+A1(1)}
802437408.

U dg-d5 YW & SR UicRieddr TR A9 & g 3 3fe Aq(2,)
Fd Bod o, 99 UaRISdl S UiaR Bad T(.) TUT A7) & s Jol
Teie) G ((UYH 8 B Uk o1 ©)

T(L)= pi{1+2A1(1)}
802437405,

www.FirstRanker.com
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T()= pr+{1+2A1(1)}
802437407.

T(L)= pr+{1+A1(1)}
802437408.

Sediment rating curve represents the relation between

sediment yield and catchment area.

802437409.

sediment transport rate and water discharge.
802437410.

sediment concentration and total dissolved load.
802437411.

sediment delivery rate and relief-length ratio.
802437412,

www.FirstRanker.com
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3ATG &X (YR 9h 5 st & Tay &1 Ufdfdd s3dr g

3[qqIg 341G Ud Sidig &

8024374009.
. C

3[aHTG URdg &3 Ud oId 3cdvl-
802437410. ‘ ]:{a

SaYIG Higdi Ud ©d gd R
802437411.

3[qgTe 911 &2 Ud J=a9d-dds
802437412.

Match Képpen's climate symbols with climate types.

Koppen's symbols Climate types
A | EF L | Continental Dry Summer
B | Ds M | lce Cap
C | BS N | Savanna
D | Aw/As O | Steppe
P | Tropical Rainforest

Choose the correct option.

——A=O0B=N€=LtD=F
802437413. www.FirstRanker.com
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A-L B-P,C-—M,D—N

802437414,
A-M,B-L,C-M,D-P
802437415,
A-M,B-L C-0O,D-N
802437416.

DI & TAd Udih! Bl STefdrg UbRT H e B

DI & Udih Sddg UhR
A | EF L | AT e Hisg
B | Ds v | feH=se
C | BS N | SdHl
D | Aw/As o |&U
P Iwpicsedi aufaT

el fadhed &1 7 |

R0, B—=N G =L, =P
802437413.

A—-L, B=-P,C-M,D—N
802437414,

802437415. www.FirstRanker.com
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A-M,B-L C-0O0,D-N
802437416.

Statement A: The tropics experience large annual temperature

variations.

Statement B: Highest values of annual temperature range
occur in the middle of large landmasses in the
subpolar latitudes.

Choose the correct option.

Both are true

802437417.
Both are false
802437418.
802437419, A is true but B is false
A is false but B is true
802437420.

www.FirstRanker.com
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S B: UL iRl H 95 YU o o9 H aritfe daroEH gk
& I=ddq A fHdd §
Yol S I |

gl bgl §

802437417.

FEIRIGEE
802437418.

ATel g, dfbTBAdE
8024374109.

ATAd g dfbTB Bl ©
802437420.

Which one of the following values of hypsometric integral

denotes maximum erosion of a drainage basin area down to its
base level?

0.18
802437421,

0.44
802437422.

802437423, 0.51 www.FirstRanker.com
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802437424. 93

= fod I=gareell = & A § 9 ©F 91 Ud SaHar aiE
& & I 3MYR TR dP I=ddd 3Re B (HeiUd Hdl g2

0.18
802437421,

0.44
802437422.
802437423. 0.01
802437424, 991

www.FirstRanker.com
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Geomorphic feature | Geomorphic processes
A | Cockpit o Coastal
B | Moulin M Fluvial
C | Runnel N Glacial
D Talik 0 Karstic
P Periglacial

Choose the correct option.

A-O0,B-N,C-L,D-P

802437425,

A-P,B-L C-MD-L
802437426,

A-0,B-M,C-L,D-N
802437427.

A-0O0,B-P,C-N,D-P
802437428,

www.FirstRanker.com
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A | BibiUe L | dem
B | A M B
c |¥a N | feEal
D | cifcrd o | Pl
p | URieHTCH

el fddhed i g |

A-O,B-N,C-L,D-P
802437425.

A-P,B-L,C-MD-L
802437426.

A-0,B-M,C-L,D=-N
802437427.

A-O,B-P,C-N,D-P
802437428.

www.FirstRanker.com
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geomorphic concepts.

First proponent Geomorphic concept
A | A. Linton L | Etchplanation
B | B. Willis and E.J. Wayland | M | Morphogenetic region
C |J. Budel N | Slope replacement
D |W. Penck Q | Slope retreat
P | Theory of tor formation

Choose the correct option.

A-0O,B-N,C-L, D-P

802437429,

A-P,B-L,C-M, D-N
802437430.

A-O0,B-M,C-L, D-N
802437431.

A-0,B-P,C-N, D-P
802437432,

www.FirstRanker.com
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UTtad foba, ST T Hel fHe &Y |

PHIRERIRSIGET Y3HTHIdD Gheu]
IS L | MemRo gadaH
g |dl.faftmuds. d.dds |y | SET f9em &F
c |9.93d N | S UiaRITgH
D |39 Ud o | e amdt
p | TR & T4 & RGid
el [dded &l 7 |
A Bl Gl D=P
802437429.
A-P,B-L,C-M, D-N
802437430.
K08 ML DN
802437431.
A-O,B-P,C-N, D-P
802437432.

www.FirstRanker.com



:l ®» FirstRanker.com
ML rfiént Ak Coabitend to hesompe.sanik toMUddy agfidal stranker.com

range changes from meso to macro.
Reason (R): In tropical coasts, mangrove vegetation is
conducive to deposition of fine sediments.

Both A and R are true and R is the correct explanation

802437433,
Both A and R are true but R is not a correct explanation
802437434.
802437435, A is true but R is false
802437436. A is false but R is true

HUF (A): SO AR IRWR 7 ¢ f&H &l 9gad &, 9Hadc
ENERR IR EIGER

HYH (R): IV Hicag qel § Hild aidai Y&d a9mel &
fRefao & fau ered eidt €1

A TYT R GIHl Hel §, Ud R Yol oURHAT

802437433.

A TR HI U8l 8, Ud R ! oIReAT 161 ¢

802437434.

802437435, www.FirstRanker.com
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802437436.

A TTdd § UR=] R gl 5|

Identify the correct sequence considering cause and effect

relationship in the Indian context.

802437437.

802437438.

8024374309.

802437440.

Malnutrition — High morbidity — Low per capita income —
High mortality

High morbidity — Malnutrition — Low per capita income —
High mortality

Low per capita income — Malnutrition — High morbidity —
High mortality

Malnutrition — Low per capita income — High morbidity —
High mortality

www.FirstRanker.com
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UgdH

HUNT - I=d BT - [ Ufd afad 31 - I=d g &

802437437.

3= BT - HUNU] - [ Ufd Afad 319 - I=d § &3
802437438. - Jﬂ(b'l’

= Ui ogfad 2 - $UNU -3 ST - Ied H &3
802437439,

U - FH Ufd aafad oM - 3I=d J0AT - I I &3
802437440.

Match the columns | and Il.

Column-I Column-I
(Regions) (Process)
A | Warmer forest X | Alkaline compounds
accumulate near the surface
B | Deciduous and Y | Bacterial actions and rapid
mixed forest chemical actions
C | Steppe grassland Z | Soils are less acidic
D | Humid tropics K | Leaching is less significant

Choose the correct option.

A—X; B—Z; C—Y; D—K
802437441. www.FirstRanker.com
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K: B—Z; C—Y; D—X

802437442,
A—K; B—Z; C—X; D—Y
802437443,
A—X; B—Y; C—Z; D—K
802437444,

HIaH | U9 PIcH || BT HTH B |

BT - (&) I 1 (i)

A [T X |HdE W &R U &1 §Ig0

B |ydws Ud ffyaa | v |Siiam fbard vd ga I fhar
C @y feH Z |Ter & st gt §

D |3 SWidfcadly | K |[&Te &8 Heayy il &

el [dhed ®1 g |

A—X; B—Z; C—Y,; D—K

802437441,
K: B—Z: C—Y; D—X

802437442,
A—K: B—Z; C—X; D—Y

802437443,

www.FirstRanker.com
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One of the following set of features correctly represents former
higher sea levels or lake levels

Estuaries, Abandoned cliffs, Mangrove swamps
802437445,

Storm beaches, Foredunes, Submarine platforms
802437446.

Strand lines, Raised beaches, Marine terraces
802437447.

Pl ' liffs, Shingle b h Spit
802437448. BRZNG. SIS, o Ringie DESIERes, oplis

591 ¥ NPTl B Ud GHg YdUd Jod 945 ddi a1 GRIaR dal &l
ol ©U H UG dxdl 8, 96 &

Jeqd, uRaad Y, 4919 gacd

802437445.

www.FirstRanker.com
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802437446.

gfer, Sferd gfer, IRkt dfesT

802437447.

802437448.

The diagram shows the vertical variation in the texture and
grading of river bank deposits. It is
IO =~ o

‘r.b:'g' S e R

i
i L"ﬂ."ﬂal‘.{}"ﬂ.'

L

G

Fining upwards and well sorted

802437449.

Coarsening upwards and well sorted.
802437450.

Fining upwards and poorly sorted.
80243745T.

www.FirstRanker.com
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Coarsening upwards and poorly sorted.

802437452.

www.FirstRanker.com

www.FirstRanker.com

1, 764 | dexeu uRadd td 94} e (e &1 4ufie g2idi 8

Ug fewrdi g

et gl T, Ud uaie gidhd

802437449.

I AR U YA g2

802437450.

et gfeher ud sruui gedd

802437451.

IETTH RAH0 T4 AT J2Udhd

802437452.

www.FirstRanker.com
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Plateaus, mesas, buttes and pinnacles are

evaporated landforms containing sediment and salt.
802437453,

landforms of flat-lying rocks in arid regions.
802437454,

formed when mountain streams carrying large amounts of

rock waste drain into an adjacent lowland.
802437455,

flood plain features.
802437456.

3aYTE U4 ddUgdd a1™Id YATH IO |

802437453.

ISH &F H A Qdl B YATHiaal |

802437454.

802437455. www.FirstRanker.com
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Al g, d9daTd § |

91 & HaM $1 i |

802437456.

Acid rain is NOT associated with

aluminium toxicity in lakes.
802437457.

802437458, removal of nutrients from soil.

blackening of Taj Mahal.
802437459.

increase in biological oxygen demand in lake.
802437460.

317 aNT gD Y afod T8Y gidl

www.FirstRanker.com
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802437457.
a1 ¥ YiNe ddl &1 (BT
802437458, )
droHed B Bl il
802437459.
WIR | Sifad fifRTe 77 &1 Fg-1
802437460.

Match Columns | and Il

Column-I Column-I|

A Bolson X | Low-angle foot slope with veneer
of wash material

B Bajada Y | Unconsolidated, highly dissected
materials in semiarid regions

C Pediment Z | Coalesced alluvial fans

D Badland K | A slope-and-basin area between
two adjacent ridges in a dry
region with internal drainage

Choose the correct option.

A—X;, B—Z;, C—Y; D—K
802437461.

www.FirstRanker.com
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802437462.

A—K; B—Z; C—X; D—Y
802437463

A—X; B—Y; C—Z; D—K
802437464

HIdT | YT Bidd 1l BT THA B |

CANE BicH -l
NERE x| 711 101 TR0 @1 & I1Y i
el &1 iRd
AEEEL Y | 3R & O SsrftiSd, sralesd
EERICRRIIED
& gSig< 7 Yifdd Sidlg U
D | 3aId Hi#H K | 3aR® Safart & 9 Th
SH &3 H G M-I & Hehl
& A9 Uh ¢aH-Ug-di &
Yol [ddbed &l I |
A—X: B—Z: C—Y: D—K
802437461.

A—K; B—Z; C—Y; D—X

802437462

www.FirstRanker.com
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802437463.

A—X; B—Y; C—Z; D—K
802437464

The following schematic diagram represents a glaciated terrain

with  four different points A, B, C and D. The state at different
points shown are X-Glacial lce movement, Y-Glacial plucking,
Z- Jointed bedrock, K- Abrasion and polishing. Find the
correct match.

——
Y o=

A—X; B—Z; C—Y; D—K

802437465.

A—K; B—Y; C—Z; D—X
802437466.

www.FirstRanker.com



:l » FirstRanker.com
A FirstAnkd(s BoicZ C—)&M@—

802437467. FirstRanker.com www.FirstRanker.com

A—X; B—Y; C—Z; D—K
802437468.

&8 T gieFES ARE 9R A fdgell A, B, C qUTD & 914 U
fGHACd YT &I G2IidT ¢ | fafy= fogell W fexars Wit srawimd ug
%, X-[5HG A 919, Y-fgHae-4d4, Z-Uiigad 3MuR Id, K-9u0 ud
TG | Ge! e Ui &9 |

A—X; B—Z; C—Y; D—K

802437465.

A—K; B—Y; C—Z; D—X
802437466.

A—K; B—Z; C—X; D—Y
802437467.

A—X B—-Y. C—Z DK

www.FirstRanker.com

802437468.
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Highest cation exchange capacity is most likely to be in a soil that
Is

very sandy
802437469.

low in organic matter
802437470.

sopazra, TG i clay and organic matter

silty and low in organic matter.
802437472.

ST U faHT 59 a8 & TaT 4 giH &1 gaiieid Jure
gl e

NIDEACE]

8024374609.

802437470. www.FirstRanker.com
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quHY U9 HraHd Terd F sifddr ard
802437471.

e gad Ud dldi-id gerd o [HEdr 9rd

802437472.

The difference between the barotropic and baroclinic atmosphere
is that

density is a function of pressure in the former while it is a

function of temperature in the latter.
802437473.

density is a function of pressure in the former while it is a

function of pressure and temperature in the latter.
802437474.

density is a function of temperature in both.
802437475.

densiti,f is a function of temperature and pressure in both.
802437476.

www.FirstRanker.com
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219 U Ud aTd Ua e e & o 3aR I8 eidl

U-d Ugdl H GId &1 Bhd- Ud 971G dicd § 949 &1 B ¢ |
802437473.

g Ugd H &4 &1 Bad Ud d1G dlcl H &9 Ud dIUdH &1 Bad
e

802437474

99d -l § 999 ST HaT 6idl © |
802437475.

Y9 Gl H J99H U3 G1d &1 Had idl © |

802437476.

www.FirstRanker.com
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ground Doppler radar for two atmospheric phenomena. The solid
lines indicate wind component towards the radar, the dashed lines
indicate wind components away from the radar, and the dotted line
indicates the zero isodop. Which of the following options correctly
identifies the two phenomena?

- =y

(i) Tornadic mesocyclone and (ii) Cold air downburst from a

thunderstorm.
802437477.

(i) Sea-breeze and (ii) Mountain-valley winds.
802437478,

(i) Occluded front and (ii) Extra-tropical cyclone.
802437479.

(i) Butterfly effect and (ii) Coriolis effect.
802437480.

www.FirstRanker.com
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(i) ERAST Gfgd Ae-Iehdrd Ud (i) U dfsd iz id 9
3{YIYSpIC

802437477.

XD

(i) 9% 9HR T4 (ji) ydd-91ct yad

802437478.

(i) 3ffYfa™e 31 TG (ji) 91T IW0T Hic T Iehdld

802437479.

(i) Torredl wHTd ud (i) PIRIITY yya

802437480.
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Assumption of hydrostatic balance in the atmosphere leads to the
following inference :

Coriolis force is not important in vertical motion.
802437481,

Vertical acceleration is absent.
802437482.

Vertical motion is absent.
802437483.

There is a perfect balance between upward directed vertical

pressure gradient force and downward directed gravity force.
802437484.

[ gU YT | ¥ 9 [dbed &l Y|
agHSd ¥ gawifded Yqa- i deudl 38 A $I IR Giil -

Seafer 7 § SIRkaiferd sa ggayef 981 31

802437481.

IeafeR @RUT ST B

802437482.

]

|
802437483. www.FirstRanker.com



:l » FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

JeeR FHalRd IEieR 2/ Yauidr 99 ud AEE MR
Ed 90 & d1d Gol YdeH ¢l

802437484.

Choose the INCORRECT option.
In the geostrophic approximation,

pressure gradient force is in balance with Coriolis force.
802437485.

it fails at equator.
802437486.

it holds good in mid-latitudes.
802437487.

Coriolis force varies linearly with latitude.
802437488.

9 I Ted fadhed &1 I |
Yiq&qu gigdhed o

www.FirstRanker.com
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HIR3Y 9d & U1 &4 YaUdl 9 Adad H § |

802437485.

f[dYyad R g f[Awd s g |

802437486.

H-3{&f2l UR Ig 3 4 ANLEIdT 6 |

802437487.

1= & g1y pifvefay 9d @ deadie

802437488.

Occluded front occurs when

cold front overtakes warm front.

802437489.

warm front overtakes cold front.
802437490.
802437491, cold air mass overtakes warm air mass.
802437492 Varm air mass overtakes cold air mass.

www . FirstRanker:com
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3iferfase aram umr Sidl ©, oid

e AT, ST AT Y 31 §¢ oidl o

802437489.

DI IR, RATdd ardi Y 31 §¢ Sl o
802437490.

Siad a1 A, BT 91d AR & 31 §¢ Tl g
802437491.

DINT g1 1T, AT a1 A 311 9 ST 6|
802437492.

Choose the correct option from the following statements.
Relaxation methods are

used to solve parabolic partial differential equations.
802437493.

used to solve hyperbolic partial differential equations.
802437494,

802437495.
www.FirstRanker.com
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partial differential equations.

examples of direct methods that are used to solve elliptic

partial differential equations.
802437496.

&8 Y= & Ugl [ddhed g |
fasifa fafermt

RAAAD D SaHd GHIHI0 & FHIUH H T gl gl

802437493.

IIRIAAD D SFHd GHIHI & FHIYH H T g 6|

802437494,

UARIG fd1% &b eI § Sl ardaiay ofifid sradha- gHidRo
& qHTYE H Ugi gidT o

802437495.

gl fafd & Iaer0 ¢ SNl ardghag 3ifRie THIER0 & JH1E
H T gl el

802437496.

www.FirstRanker.com
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The horizontal wind in the planetary boundary layer is the
resultant of

gravity, Coriolis and centrifugal forces.

802437497.

pressure gradient, gravity and Coriolis forces.
802437498,

Coriolis, pressure gradient and friction forces.
802437499.

centrifugal, Coriolis and friction forces.
802437500.

yeig oA TR # &fas 9y s gRkone gt e

o, PIRGIEY qUT 3Thiay &l
802437497.

aId JurdT, T dYT HIRFIAY §¢
802437498.

DI, GId YIUIdT YT gy ol
802437499.

802437500. www.FirstRanker.com
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Which one of these moisture variables will increase in a
rising parcel of air?

Mixing ratio
802437501.

Relative humidity
802437502.

Vapour pressure
802437503.

Specific humidity
802437504.

290 I &IH Il U 4] TR I&d 1Y AR H Feiil?

EIEGRERLIG

802437501.

www.FirstRanker.com
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802437502.

qi™ ald

802437503.

fafemse fredr

802437504.

Diabatic thermodynamic processes can heat or cool the air at

different rates. These processes include

A. Radiative heating/cooling.

B. Conduction from the surface.

C. Turbulent mixing.

D. Latent heat released/ absorbed due to phase change.
Choose the correct option

A is true.
802437505.

A and B are true.
802437506.

A, B and C are true.
802437507.

A, B, C and D are true.
802437508.

www.FirstRanker.com
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A. fafdor droH/Riiae

B. Idg U dIaddl

C. 3{27id Ao

D. WY §ead & HRUN G &1 S Hfdkd/Haiu]
ol fadhed &1 9f

| AYE g

802437505

AdUTB TGl ©
802437506.

A BdUIC Il g
802437507.

A B.CdyID 9el ¢
802437508.

Statement A: The duration of Indian summer monsoon
increases from south to north.

) = ) a i ” !n
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Both A and B are true
8024375009.

Both A and B are false
802437510.

A is true, B is false
802437511.

A is false, B is true
802437512.

HYF A: URATT T AU BT GAY-3RTA G101 ¥ ek Bl 3R
TG ¢

HYF B: Iak| HaH H YR T AFYA ayi g 9 Uigd 3t 3R
gedl g

A YT B aHl Jel &

8024375009.

A dYT B S Tad &
802437510.

Al e, BTdd g
802437511.

802437512. www.FirstRanker.com
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In numerical weather prediction models with hydrostatic
approximation, vertical velocity can be

calculated from the Navier-Stokes’ equation
802437513,

calculated from continuity equation
802437514.

assumed to be zero
802437515.

assumed to be constant
802437516.

SqRI{dd YlAde & G Y 4199 Urlfad Hisd | SR
NIREIKH]

IR TeTd & GHIHRU T 70T g1 Idhdl ol

802437513.

www.FirstRanker.com
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802437514.
9= BIH &I B ol FHdl g
802437515.
[RRI® g4 &1 Hed- ol Ibdl ¢
802437516.

Cyclogenesis in Northern hemisphere is associated with

A. sea level pressure decrease
B. upward motion increase

C. relative vorticity increase
Choose the correct option

A is true, B and C are false.

802437517.

A, B and C are true.
802437518.

A and B are true and C is false
802437519.

A, B, and C are false.
802437520.

www.FirstRanker.com
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Sl Mard ® Idard S99 5% 91Y 9eidd gl 9dhdi o

A. THg dd gId &1 "geAl
B. IWIR A &l dis

C. e YHedr &1 9
ol [dh ey 1 g4 |

AYEl g, B dYI C Tad ©
802437517.

A BdYIC Hel o

802437518.

.AHWBHﬁﬁﬁﬁcmﬁ%

802437519

A B dYICidd o
802437520.

refers to the horizontal transport of air while
is the vertical transport of air.

Advection, convection
802437521.

802437522. www.FirstRanker.com
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Propagation, transportation
802437523,

Velocity, updraft
802437524.

Uad & &fder uikag &l Yefifd oear ¢ Jefd
Uq BT JeaieR IRagH g

3iHde, de
802437521.
802437522.
802437523. ! :
fd, Jwde
802437524,

www.FirstRanker.com
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of the stratospheric ozone are
A. CI/ CIO cycle.

B. NO/ NO: cycle.

C. SO/ S0Os cycle.

D. OH/ H20 cycle

Choose the correct option.

A and B
802437525.

A, BandD
802437526.

802437527. Cant b

AandC
802437528.

T H3d AT & ISR [T $T U0 J5 IS I
IRA

A. Cl/ CIO 9%

B. NO/ NO, TH

C. SO2/ SO3 dih

D. OH/ H20 9%

! f[dbed &l I+ |

dyl B

802437525. A www.FirstRanker.com
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A, Bd4dlD
802437526.

CddiD
802437527.

AdYlC
802437528.

What will be the virtual temperature of an unsaturated air with
temperature of 35°C and mixing ratio of 30gwater/kQdry air?

40.0°C
802437529.

40.2°C
802437530.

40.4°C
802437531.

40.6°C
802437532

www.FirstRanker.com
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350C TGHT U4 30gse /kgere arg (Y01 3UTd & 1Y Tdh
3 R T STHIIT dTIHT 1 gIT?

40.0°C
802437529.

40.2°C
802437530.

40.4°C
802437531.

40.6°C
802437532.

Which of the following statements related to the tropical easterly
jet over Indian subcontinent is INCORRECT?

It is formed due to the reversed meridional temperature

gradient.
802437533.

802437534, It is located over Peninsular India.

www.FirstRanker.com
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intensification of the jet stream.
802437535.

802437536, It is found at an altitude of 14 — 16 km.

YR SUHGTEIY & IR 3] Bicae ydf oie 4 el HH a1
Y T 62

gg Jehid IMICRIg dIaH YUl & BRUT &=l ¢ |

802437533.

I HRA Ued & 3R RUd g

802437534.

I YRT & Iabedl & 1Y I«iRydl HFYA a9] 9gdl 6 |
802437535.

T8 UF 14 — 16 km HATS TR firad 8|

802437536.

www.FirstRanker.com
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(equatorward movement) then the relative vorticity of the water

column will

increase
802437537.

802437538. decrease

remain unchanged
802437539.

increase up to 30° latitude and then decrease
802437540.

3R U T el D &Y Jod &/ Y [ 319 o RE (fayad
P! R AGAH) TN &, 76 oI WH DI e e

el

802437537.

802437538.

@1 DI URad- 7l grm

802437539.
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802437540.

Which direction of meridional wind stress would cause coastal
upwelling at the West Coast of India (WCI) and West Coast of
Australia (WCA)?

Northward at WCI| and Southward at WCA

802437541.

802437542, Southward at WCI and Southward at WCA
Northward at WCI and Northward at WCA

802437543.

802437544 Southward at WCI| and Northward at WCA

JRIGR ar Wi @ & Al R 4T & Ui%H d¢ (Wel) ud
SHIECTerar & Ui d¢ (WCA) TR Iodul & ferd HRuy giit?

oy L .
b

802437541. www.FirstRanker.com
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WCI U= iU T 3R Ud WCA TR GIEU &l 3R

802437542.

sopazresg, WCI TR IR P 3R WCA TR IR Bl 3R
WCI TR &0 &1 3R Td WCA IR 3R Bl 3R

802437544,

Statement A: Ekman pumping velocity in the ocean is
proportional to the curl of the wind stress.
Statement B: Low salinity water from river runoff and
precipitation reduces mixed layer depth.
Choose the CORRECT option from below.

Both the statements are true but B is not a correct explanation

of A
802437545,

Statement A is false, statement B is true
802437546.

Statement A is true, statement B is false
802437547.

Both the statements are true and B is a correct explanation
nf A

802437548. www.FirstRanker.com
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HYF A: Tz H UHHA U0 71, 91 Ulded & $d & YIS 6 |
HYH B: a1 15 gRI (4 qauily sia ug auv, fifsd dg & MR

Bl HY B © |
At fad et fadey &1 g |

| GHl &Y T8l ¢, d A ©I G5! ARA B el &

802437545

HUTATAd o, PUTB Tel ©
802437546.

HYTAFel §, PYTB Tdd ©
802437547.

2l HYT Tl 6 Ud A DI 9ol AR B §

802437548.
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relevant Oceanic process/condition in Column II.

Column | Column |l

P | Barotropic T | Pressure gradient and Coriolis forces are
flow in balance

Q | Baroclinic U | Surfaces of constant density and constant
flow pressure intersect at some angle

R | Geostrophic V | Sinking motion of water at selected high
flow |latitude locations

S | Thermohaline | W | Independent of depth in the ocean
circulation

X | Pressure gradient and gravitational forces
are in halance

Choose the CORRECT option

P-U, Q-T, R-X, S-V

802437549.

P-W, Q-U, R-T, S-V
802437550.

P-U, Q-W, R-T, S-X
802437551.

P-W, Q-U, R-X, S-V
802437552.

www.FirstRanker.com
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AR ERIE I EANE RIREGRY

GAGEN HicH Il
P | SEYIdM Ydlg T | <19 Y4l U4 BIRTIe
SESREN
Q | QEYafe ydrg U | TR 99d td BR 3§ & 9dg
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3{qydrg Tid
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P-U, Q-T, R-X, S-V
802437549.

P-W, Q-U, R-T, S-V
802437550.

P-U, Q-W, R-T, S-X
802437551.

P-W, Q-U, R-X, S-V
802437552.
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relationship between oceanic surface Ekman layer depth (De),

surface wind speed (U), and latitude (¢)?

Dex U, Dex 1f¢

802437553.

De o U, De inde[ﬁendent of ¢
802437554,

Deoc 1/U, Dex 1/ ¢
802437555.

Dex U, Dex ¢
802437556.

79 ¥ B 1 U6 [ded 9151 9ag UhHH dg THRAT (De), 98
AN (U), TS SHETRT () o ol Hae b el Hicl 18 ol 62

Dexx U, Decxx 1/ ¢

802437553.

De « U, ¢ T WA De
802437554.

De « 1/U, Dec 1/
802437555.
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802437556.

Statement A: Siliceous sediments are abundant on the deep
ocean floor at high latitudes.

Statement B: Radiolarian are more abundant in high latitude
waters.

Statement A is true and statement B is untrue.
802437557.

802437558, Statement B is true and statement A is untrue.

Both the statements are true but B doesn’t explain A.
802437559.

Both the statements are true and B explains A.
802437560.

Y A: Iod &l R TR G5 e W Rfen s@we sfddar i
gl ¢
®HYH B: Ied eI ol 1 IS TNE Sare] sifeddl § gl 6|

www.FirstRanker.com
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BT B 9e! ¢ Ud DY A T ©
802437558.

GIHl B Fel & U A ©1 ARAT B gl DRl &
802437559.

GHl HYF gl § U A B ARAT B IRl &
802437560.

Which one of the following is NOT true?

Primary production occurs up to 125 m in open ocean
waters, while in turbid coastal waters a few meters to tens

of meters.

802437561.
Light absorption depends upon water, suspended material,
dissolved organisms, phytoplankton.

802437562.
Primary productivity in the Arabian Sea is primarily limited
by phosphate.

802437563.

www.FirstRanker.com
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A Firstrblpretdlingiamakes the Arabian Sea one of the highly

; : nker.co WWW.FIrs
productive regions.
802437564.

frerfrfad 7 9 @1 91 el =8l 87

Gl Y4z ofd H Ui 316 125 m dd gidl &, i Uldd
e oidl § $@ Udh HIer ¥ SRl e d& sidl o

802437561.

oid, Tcifad 9l 9d Sitd, Uiey Wdd R YT gLyl
R Far el

802437562.

3RE YR H U IdEHdl 3 0 U Bidhe gRT Uiid
GRIRSIGIN

802437563

IHAU 3Rd TR & TP 3=J IAICHdl &F a1 o
802437564,
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tropical oceanic basin.

Parameters ——

0 —

Depth {m)

2000 |

A —[CI], B — [Oxygen], C — [nutrients].
802437565.

A — [chlorophyll], B — [nutrients], C — [Na']
802437566.

A — primary productivity, B — [Pb], C — [Fe]
802437567.

A — primary productivity, B — [Fe], C- [Pb]
802437568.
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Parameters ——
0 T 1
. -
-
|/ |
= |/ B |
B | |
S |
| ol
2000 I
~[CH, B - C— _
802437565, [CT, [SﬁfaiﬁquL [qufﬁ'?ﬁﬁﬂ
802437566.
A - UT4fH® IdTGHdT, B - [Pb], C - [Fe]
802437567.
A - UTfH® IATGHI, B - [Fe], C- [Pb]
802437568.
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Marine organisms | Size range (m)
A |Zooplankton |E |10°-10"
B |Virus F |10°-107
C | Bacteria G |[10%-10°
D |Phytoplankton |H | 107 -10"°
A-F,B-G,C-H D-E
802437569.
A-F,B-E,C-H D-G
802437570.
A-HB-G C-F D-E
802437571.
A-G,B-H C-E,D-F
802437572.

FAferRad 9ggl offal & 39d PRI ¥ UdaH &L |

NECISIC] AHHR URER (m)
A | WS E |106- 104
g | [y F[105-102
c |Siarg G |108—10%
D |YlaY Widad H |107 =105

A-F,B-G,C-H D-E
802437569. www.FirstRanker.com
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A Firstranker's choice
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A-FB-E,C-H D-G
802437570.
A-H B-G,C-F,D-E
802437571.
A-G B-H C-E,D-F
802437572.

What is the correct preference order (first one first) of oxidizing
agent for marine heterotrophs?

oxygen, sulphate, nitrate
802437573.

oxygen, phosphate, nitrate
802437574.

phosphate, sulphate, nitrate
802437575.

oxygen, nitrate, sulphate
802437576.

www.FirstRanker.com
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802437573.
802437574.
802437575.
802437576.

Which one of the following statements is INCORRECT for
molybdenum (Mo) in the ocean?

[Mo] = 100 nM

802437577.
Mo exists mainly in the dissolved form and has a
conservative distribution (though it is a micronutrient) in the
ocean.

802437578.

802437579.
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anion in seawater.

Residence time of Mo is less than 1000 years in the ocean.
802437580.

Tz | gifcssTH (Mo) & ot FEfiRdd 5 ¥ 9 91 Ud Hu Tg!
o1 67

[Mo] = 100 nM
802437577.

s # Mo 0 ¥U U Yo ¥U H §Idl & Ud 39! [qaru
3URAdHaIE! ¢ | (9l Ig U Y&H UINd )

802437578.

Tl S 4 el Alfciss 4, Aifissc (MoO42) BUMEH & ¥4 I
BT g |

802437579

Tz H Mo &1 (ama wad 1000 38 ¥ HH a1 2|

802437580.
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temperate latitudes. Identify A, B C and D parameters.

I B
L R ; A
L
A | 4 1 -
N 3 7
\ i . /
i Mg /
E ! s .-f'f
2 I ,r D 4
= , /)l ik
! %
g ; /j 4 \\ PARLY,
| I H“"M.H_h A [ i,
i ! e -
j/ / o 7 Jx"/h_i\\t‘
Jan June Dec

A — Nutrients, B — Phytoplankton, C — Zooplankton, D — Sunlight

802437581.

A — Sunlight, B — Phytoplankton, C — Nutrients, D — Zooplankton
802437582.

A — Zooplankton, B — Phytoplankton, C — Chlorophyll, D — Sunlight
802437583.

A — Sunlight, B — Phytoplankton, C — Nutrients, D — Chlorophyll
802437584. > i P

www.FirstRanker.com
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Parameters

June Dec

A - UIN& dd, B - GlgUwldd, C - WIUIadd, D — 9 [l

802437581.

A -4 fR01, B — UIGUWa®, C - UIN® dd, D - WIitiedad
802437582.

A - UIUIdd, B - UleUdds, C — quigiRd, D - & [0
802437583.

A — Y &R0, B - UIGUWdd, C — UN® dd, D — GUigiRd
802437584.
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per day and produces 2 mg of faecal material per day. What is

the assimilation efficiency of this carnivore?

20%
802437585,

40%
802437586.

60%
802437587.

)
802437588. 80%

WWWW 10 mg BIUUS & JgU &d & Ud
Yfdfe 2 mg A AR SadTfad B o1 39 HIGGRT I @il
cafdll T gl

)
802437585. 20%

40%
802437586.

0
802437587. 60%

802437588. www.FirstRanker.com
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Which of the following statements is INCORECT?

Hydrothermal event plumes represent continuous venting

of material, gases and magma.
802437589.

Hydrothermal event plumes are larger but transient plumes.
802437590.

Hydrothermal event plumes often travel thousands and more

meters above its source.
802437591.

Hydrothermal event plumes are often associated with

formation of new volcanic mounds.
802437592.

fEfaRad § 9 &9 91 $u= 981 78l 62

8024375809.
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geT fi=8® $d &

IWIGTe g gedl [Uedd 65 gl 6, UG Sl {Uwdd gid g

802437590.

JUISTEH HeT g d SRR Y Ed & S| BolR| T f(9H
Hie g ad B

802437591.

ISl He e SHaER 74 Sardyaig cidl & Hafor g
Hellerd gl 5

802437592.

Choose the correct match between the columns | and Il

Column | Column I
A | Littoral Zone | | A flat topped ridge on the beach face
formed by the deposition of beach
material by wave action.

B | Foreshore Il | A group of linear depressions that run
parallel to the shoreline.
C | Runnel [l | Zone between seaward boundary of land

vegetation and to a point in the sea
where sediments are not disturbed.

D | Berm IV | Part of beach that is exposed during low
tide and submerged during high tide.

Al

Fal 0. 0 1 ) Pl % 1
AT D=1V, C=11, D=l

802437593. www.FirstRanker.com
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A Firstranker's choice
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A-1V:; B-lll; C-I; D-lI
802437594.
A-1V: B-Ill; C-II; D-
802437595.
A-I: B-lI; C-lll; D-1V
802437596.

I | TUT I Il & ot g e -

Hicd | Plcd |
A | gt || R T gRT ¢ W T & e
91 g3l U SR 4 YHdd S |
B | 3Fre | | T8 & THMEIR FH H IRAP TSg! ol
g |
B IFE7 @ THG I AR 491 vd THg |
: Jo
& o9 &1 &7
kL (v | € @1 al 4T S FH 9d1 & 9HYT IOR
Ud 33 9l & THY 9 ST ¢

A-lll; B-1V; C- II; D-l

802437593.

A-IV; B-IlI; C-I; D-Ii
802437594,

AN B G H: D
802437595.
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A-l; B-II; C-llII; D-1V
802437596.

Choose the correct match between the columns | and Il:

Column | Column |l

A | Active Margin | | It is formed when separated
continental tracts move perpendicular
to the coastline.

B | Rifted Margin Il | It develops when rifting is oblique to
the coastline.
C | Sheared Margin | [ll | Itis formed when continental breakup

is associated with strike-slip faulting.

D | Transtensional |1V | Itis found on the edge of continents
Margin where subduction occurs.

A-l; B-1V; C-II; D-llI

802437597.

A-1V; B-I; C-llI; D-I
802437598.

A-l; B-llI; C-II; D-IV
802437599.

A-1V; B-IlI; C-I; D-
802437600.
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I | YT Ie I & ol el el I+

PIcH | GAREN]
A | 9lhg 3urd || 9 [9eId TgTely & deva &
=Y TTHT S ©, ST (AT
gl ol
g | Rue 3uid || oE Rudiau devar & fovea gian

g, 399 [AP™ gl & |

C AR 3Uid 1] od Helglurg fawq Ud Ffdds-
o Y1 I il , S

EEILEGIE

D |URAFISUR |1y | 7E Heiu & HIR W U W €,
STgT 39 Bidl &

A-1; B-1V; C-II; D-llI
802437597.

A-1V; B-I; C-llI; D-lI
802437598.

A-l; B-IlI; C-II; D-IV
802437599.

A-1V; B-lll; C-I; D-ll
802437600.
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